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The figures in the margin indicate full marks
for the questions.

Answer either in English or in Assamese.
- e TG WA PRI F
1. (a) Fill in the blanks with appropriate word /

words : 1x5=5
Toge *wE TRl e 9 o ¢
(i) As per section ....... a person by whom

any tax or any other sum of money is
payable under the Income Tax Act is
known as assessee.

SRS R ETE - gl SR aom Bie
T I T WL S I T A iR
e fw@ael A, o i Famrel JfE
el A
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(ii) Salary is taxable on due or receipt basis
whichever is .....

T, ARSI @ 2ifes sngRe [AdiE

(i11) Rate of statutory deduction in case of
income from house property is ....... :

57 Tifer SRR o Rftere 6w 7w
1 [ |

(iv) Section 54 provides exemption to capital
gains arising from the transfer of a .....
house property.

........... YR T~IfeT TBINTT #1F @_ TF
T AE@ 49 54 @@ I T s |

(v) Interest received by an employee on his
own contribution to unrecognised
provident fund is taxable under the
wheaduc o ;

TP oY efSret Few SN
et qmefdT eolge o J© ... Rielae
I =W |
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(b) State whether the statement is true or false :

1x5=5
Sfe0l wEm 1 Sww Sl 9 8

(i) An Indian citizen is always considered
as resident and ordinarily resident in
India.

G SRSy TeiRTT MY eRes I
iE g A Reies S 9 =)

(i) Perquisites cannot be given in monetary
form.

Perquisites 5FF Sigcpea a1 @)

(iii) The highest rate of personal income tax
as per the Income Tax Act is 30%.

Y SiE SAHe  Gieste  SiHeeE
FEs WRY TE 30 *eike |

(iv) An asset (except shares and debentures)
is termed as short term capital asset if
it is held for 36 months.

@Gt TG 36 WE wEes A ?&?ﬁ‘lﬁ?{
ELT AT I ooy 1 = | (SHeig /=
Yool A M) |
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(v) Cash in hand in excess of Rs. 20,000 in -
case of individual are to be considered
as an asset for determining net wealth.

siizesti afe wems oo F5m &=t 20,000
tarece @ A wm Fwefe Rdwq
FEace Re == =@

Write short answers to the following in about

_ 50 words each : 2x5=10

A 5051 =g foess Frwie Afe! eeg 53 T
frzt ¢

(a) An assessee commences his business on :

(1) 1st July, 2014 and (ii) 16th January, 2014,
In each case, what will be his assessment
year and what period will be treated as his
previous year for the concerned assessment
year ? .

GG P ARSI (969 I WINE
IReze (1) 1 gerE, 2014 == (i) 16 Sigaid,
2014 | ofochl Trgre (ody F1 T a7
T WIS TFS 9 FefRe 729 A [ore azww
firw & 292

(b) When is an individual considered 'non-
resident in India' for income tax purpose ?

e GEF TSI Somedy  (Ffenl eiges
i Tz o oAfRefde st =@ o
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(c) Define assets -under the Wealth Tax Act.
TifE T wiETT RS Foifer vicem |

(dj Write the meaning of ‘Total Income’ as per
Income Tax Act.

SR B SR Yo w9 e

(e) State two expenses which are admissible
while computing taxable profit of a business.

wRy <4959 [aw Sy 4|

Describe briefly any four of the following :
5x4=20

oTe A @ i siffeE oy e R e

(a) State the procedure of filing of return by an .
individual assessee.

I&e 9 MRS Jfe =i [T wilkdE
NN e B 1|

(b) State the consequences of not deducting tax

at source as per the provisions of Income Tax
Act.

S Sz Ry SR Seirs 73 9
FeEfs BrEd 4 |
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(c) What deductions are allowed while computing

income from house property ?

Im A Q2 T o=

(d) Name any five allowances which are
exempted from tax upto the limit of actual
expenditure,

AFS I AARTA % Tw9ve [ @
ARy vy B S 391

(¢) Give five examples of espenses / provisions
which are not allowed as deduction while

computing the profits and gains of busmess
or profession.

TP 31 IR #91 (Qat are Fefy eaics w6+
IR @R GhoRy  =E/oEE Seiee
Trizel o |

() State the meaning of 'long-term capital gains'
and 'short-term capital gains'.

4. Answer the following questions :

Resre emprps Tes fl ¢

(a) (i) Kasturi Das is the owner of a house
property located at Guwahati. From the
particulars given belew compute the
income from house property for the

assessment year 2015-16.

Municipal value Rs. 42,000
Fair rent Rs. 45,000
Standard rent Rs. 44,000
Actual rent Rs. 4,400 p.m
- Municipal taxes levied Rs. 4,400
Expenses on repairs  Rs. 6,000

Municipal taxes paid during the year— 50%

of tax levied.

€4)

meﬁw@mwﬂ@@ﬂ
4 |

Mention five items of ‘general income’ under
the head ‘Income from other sources’.

S BN ARl [ W Mo wogs
ARy TaRe =w Semyd 4
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TER WA oAt 4 IR e GO
Tfers | were Srafe Rwe #91 2015-16 39
Reffait <1 @ 92 e’ =9 @ w7
fdfa ==t

(TSR 7 42,000 58
Rum It g T 45,000 5
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(i)

e oGt 44,000 5

Iwie oiel AT 4,400 G
g 9 TResE 39 4,400 o
¥ GRS 4S5 6,000 G

Rote qzg® 4T 91 (TRESE 99 50% S
afee |

Mr. Bikash Bora purchased a house property
for Rs. 76,000 on September 30, 1976. In
1989-90 he spent Rs. 4,30,000 for
reconstruction of the house. The house
property was sold by Mr. Bora on June 15,
2014 for Rs. 50,00,000 (expenses incurred on
transfer of house property was Rs. 35,000).

Fair market value of the property on 1. 4. -

1981 is Rs. 5,00,000. Cost inflation index for
1981-82 : 100; 1989-90 : 172; 2014-1% :
1024.

Compute the amount of capital gain for the
assessment year 2015-16. 5+5=10

fir. R @1 30 5reBHg 1976 S @bl 92
Sife 1 FEEEt | 1989-90 50 (99 N6
A=z fsfiers i@ 4.,30,000 5 <=6 S| 15 &,
2014 wiffe f. @™l iR 9= A~fes!
50,00,000 St Rt s ey @2 Reet
THEE AW (9€F 35,000 T W96 C2fRe |
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e T 1.4.198]1 wifive dgs IGH
U wifEs 5,00,000 59| Y@EERIRS P 29
(C.LI) — 1981-82 : 100; 1989-90 : 172;
2014-15 : 1024.

12015-16 39 MHRERIST IZCHIT AT TG ST

R =1 |
Or/=43t

The following are the incomes of Shree
Deepak for the previous year 2014-15:

(i) Dividend from Indian
company Rs. 10,000

(ii) Profit from business in
Japan received in India Rs. 1,20,000

(iii) Profit from business in
Pakistan deposited in a
bank there. This business
is controlled from India Rs. 2,00,000

(iv) Profit from business
in Mumbai (controlled
by London head office) Rs. 1,10,000

(v) Income earned in America
and received there, but ;
brought in India Rs. 80,000

(vi) Income from house
property in India received
in America (computed) Rs. 62,000
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" (vii) Interest on debentures
of an Indian company

received in Dubai Rs. 25,000
(viii) Capital gain on sale of

agricultural land situated

at Ajmeer 7 Rs. 48,000

Compute his taxable income if he is

(a) resident, (b) not ordinarily resident,
(c) non-resident. 10

2014-15 Rets 721 A F] #1759 WY (A2
wete faal &= ¢

(i) ST @t
coffal wrepice!

(i) SIS oI (98T TN
TS #[ @[ Ae 1,20,000 5=

(iif) “1RFwiTe TR #=
@A AT OF (REFS
ol celfes | @ eI

(iv) YEIZs FES <9 &
e (Fe9s 1) HeTIe
S FafEe) - :

(v) SR Soffere =i
O [ACH 1 S RO BICE Rl
Coileto) '

10,000 o=si-

2,00,000 =8

1,10,000 &=8

80,000 o=
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(b)
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(vi) SEeTR 97 Tifes
o @A WY SRS

et (FRifEs) 62,000 5=
(vi) SRS @TE ddigs

€IS e N N VAR

o =R 25,000 Gl

(viii) SRS IF FREISTE
W R IR @@ T
] 48,000 o<l
were frm Bfew & Aok TR WIW
el =1 ¢

(2) B, (b) 5= i 7=, (¢) S |

Mr. Naidu, aged 58 is an employee of Public
Ltd. Co., Guwahati. As per terms of the
agreement with the company he received the
following :

Basic salary @ 30,000 p.m

Dearness allowance @ 12,000 p.m

Interim relief @ 5,000 p.m

Family allowance @ 2,000 p.m

Bonus for the year @ 20% on his basic salary

House rent allowance Rs. 4,000 p.m. (Rent
paid by him Rs. 5,000 pm)

‘Contribution to recognised Provident Fund @

10% of basic salary.
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During the previous year 2014-15, his
- employer deducted Rs. 3,000 as professional
tax and income tax at source Rs. 6,000 p.m
from his salary.

During the previous year, Mr. Naidu paid Rs.
20,000 as life insurance premium on a policy
of Rs. 3,00,000 and deposited Rs. 40,000 in
PPI* Account.

Ascertain his income from salary for the
assessment year 2015-16 and also show the
net amount of tax payable by him. 10

58 xSl . Y eRbR e @RS
& ST | (@A pfSeias 56 SR
(o8 et CrEie TuZ oiERe o

WA T > 30,000 5

fZET S=SE AW 12,000 53

TifeA! SRSl AR 5,000 GH
R~ A5 2,000 5o

IRICE @ 6 T 9w 20%

WfEsT Teret A6 4,000 51 (co€ @feuiE
Herel iz 5,000 53)

Fge 2fores wew (of = @R 10%
Feld o fafze |

cod3 frhisdie aforet wew FRoARNeR
I Tt e |
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2014-15 Rere I=% (©€1 [ALTSE (75197
(Professional) 5 251tol 3,000 55 == WifEe
6,000 T SIS f2picsl weNRe o} Besre
6 FREE |

- [Rere ==fe fi. sEe 3,00,000 551 S

(c)
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“f=1fox A= 20,000 T Siew i =SS Fo
i 40,000 55 #iifgs eifSret waw o o |

2015-16 = RefReIS) 359 AR (9€7 w=NER
eSS f2piol et |

Or / 512
Write a note on the deductions available

under section 80C of the Income Tax Act for
the assessment year 2015-16. 10

2015-16 39 FAfREIFT =GR AE TR

SiETT 80C 4IRS I »I=) TS ST
G Gt |

(i) What do you mean by Agricultural
Income under Income Tax Act, 1961 ?

oI wiE, 1961 Yo R TEEE W
ot & oo
(i) Explain the procedure of 'Regular

assessment‘ under the Income Tax Act.
54+5=10

Wwﬁﬂﬂz— Aol 9 F<eleas
fﬁf“—ammawn
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Or / st

Mr. A retired from government service and
took up a job with a company thereafter. The
following are the particulars of his income
etc. for the financial year ending 31st March,
2015

Pension from government Rs. 12,000 p.m
Salary from company Rs. 10,000 p.m

Furnished rent-free house provided by the
company at Cochin (Population 15 lakhs).
Cost of furnishing is Rs. 15,000.

Profit from business Rs. 35,000

Dividend from units of U.T.I (gross) Rs. 8,000
Interest on goﬂzemment securities Rs. 3,500
Bank interest Rs. 8,000

~ Capital gain (short-term) on transfer of shares
Rs. 12.,000.

He deposited Rs. 60,000 in 6 years fixed
deposit in S.B.I and Rs. 50,000 in the Public
Provident Fund.

Compute the total taxable income of Mr. A
for the assessment year 2015-16. 10
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fii. A 191 5IBRT o[ SRR o IR @b
@NIT BIFRe @M @1 31 March,
20159 R R TROR AR (967 WER
s [RefEke g1 wisRDE ¢

5IBIRT #F (ol ot Wiz 12,000
@R ] iR w9y Sz 10,000 5=

@FANICE (08F (@bas (TR 15 &)
oieiiiZe 4 931 9 IR e | Ow wwe
owi < S5 SED 15,000 590

JIAFI <[ (&Q &S 35,000 5t

U.T.13 285 stenes (39) 8,000 531

ST el SR Colrl I 3,500 5=
9 ol Al {8,000 5l

G TG @ (YA WA AEG
12,000 o<t |

o€ SBIF 6 =@ 2 Tl Beiere 60,000
5l oI NfEE AfSres wew 50,000 5t T

-

fil. AT 2015-16 39 RdeR) <99 @ P
TRl = e w4

38/4 (Sem 3) DITX (15) [Turn over




(d) (i) When does the liability for payment of
advance tax arise ? How is it computed?

oW 79 emee Wife fem Sew w@e
T FEE W w9 o=

(ii) Discuss the use of 'PAN'. How can this
be procured as per the Income Tax Act ?
5+5=10

'PAN'T 2 SCENG-1 Sl | SNTFT B2
SRR 2T (@ECE AR BN T2

Or /=14t

~ What is net wealth ? How is it computed ?
Discuss. ' 10

wr A 5 2 @ @eite Refa st =we
TG |
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